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Surface yield stress = 12 MPa

Diffusion creep only

0, = 1.2 MPa, Vg = 4 cm®/mol
—— 0y = 1.2 MPa, V4 = 7.8 cm®/mol
g, = 1.2 MPa, Vg = 11 cm®mol
0, = 2.3 MPa, V4q = cm*/mol

0, =2.3 MPa, Vg = 7.8 cm®mol
0, = 3.5 MPa, Vg = 4 cm¥mol
0, = 3.5 MPa, Vg, = 7.8 cm®mol

0, = 3.5 MPa, V4 = 11 cm®/mol
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Surface yield stress = 234 MPa

Diffusion creep only

0, = 1.2 MPa, Vg = 4 cm®/mol
—— 0y = 1.2 MPa, V4 = 7.8 cm®mol
0, = 2.3 MPa, Vg = 4 cm®/mol
0, = 2.3 MPa, V4 = 7.8 cm®/mol
0, = 3.5 MPa, Vg = 4 cm®mol

0, = 3.5 MPa, Vg4 = 7.8 cm®/mol
0, = 3.5 MPa, Vg4 = 11 cm®mol
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0 W
kY
500 . ‘ X} Mean
viscosity
1000 -
-
~
+ 1500-
o
(O
D Minimum
viscosity A \
2000 1 A
i
1
1
1
2500 1 H
18 20 22 24
Viscosity (log, Pa s)
0
500 i viscosity
1000 -
g urimur
= 15001
o
()
a
2000 1
2500 1
18 20 22 24

Viscosity (log, Pa s)

0
Vertical
velocities
500 -1
1000 -
&
<
5 1500
o .
Q Horizontal
QO velocities
2000 -
2500 -
101 100 10!
Velocity (cm/yr)
0
Vertical
velocities
500 |
1000 -
&
<
5 1500
o
)
()]
2000 -
2500 T Holrizc_):;asl
101 100 10!

Velocity (cm/yr)



